AMERER(HAREMH)

T = 4 YR 1 Hh X2 S K R A = TR b - B SR T (20D 1)
T = 5 pr  4#EhT hEK N
A KL B OB A 5 £ 11 H 6 A (A) 9 HF 30 %4
2K 4 %8 ¥18,579,000- OBLERBNARD I BB O G 12 Bioo%E ¥1,689,000— )
T E Al K& ¥18,942,000- (Biir) ¥17,220,000- (Bitk)
= Y¥18,222,204-  (FiiA) f ¥18,217,846—  (FiiA) 715 ¥18,337,370-  (BiiA)
FesIR s . . .
¥16,565,640-  (Fitk) A ¥16,561,679- (Fi$k) H ¥16,670,337— (Fidk)
T g1 SERl HE A H 25 &f 6 4 3 H 15 H
Ci N T MK PERR
A fL & % e
Z_—% Y e — Yara
EP%]\ t (;H meH Z1] Fol] ERIE =
LT — A i
TR o 3
PIEET .
A L B x>
YU T@F 53
EREEE ARG o
5 fﬁﬁﬁ il ¥16,890,000 VAL
(FR) Kk o
: f) jﬁﬂ&%\w@ -
E\/ A b
7 (1¢5|§)W§ﬁ%;§i% ¥17,150,000
i FE g
S HURT .
SR Frid
10
11
12
13
14
15
16
17
18
19
20




